For each Quadratic do the following:

a. Find the Equation for the LOS.

b. Find the Coordinates of the Vertex.

c. Find the y-intercept.

d. Tell if the quadartic has a Max or a Min.
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For each Quadratic do the following:
a. Find the Equation for the LOS.
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b. Find the Coordina)éxof the Vertex.
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c. Find the y-intercept.

Replace x with [ Ol
zero.

d. Tell if the quadartic has a Max or a@

\v) Since a is positive the parabola opens up.
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For each Quadratic do the following:
a. Find the Equation for the LOS.
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b. Find the Coord.ivn?brm'ﬂ'ra‘d tex.
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c. Find the y-intercept.

In Standard Form when you
ﬁ replace x with zero the constagnt
is the only thing left.

d. Tell if the quadartic has r a Min.

/‘\ Since a is negative the parabola opens down.

An object is shot into the air from the top of a 30 foot building. The following
equation models the height of the object as a function of time:
h(t) = -16t2 + 136t + 30

1. Find the maximum height of the object.

2. Find the time it takes to get to the max height.

3. Find the time it takes for the object to reach the ground.

4. Find the time it takes the object to reach a height of 250 feet.



An object is shot into the air from the top of a 30 foot building. The following h(t) = -16t2 + 136t + 30
equation models the height of the object as a function of time:

h(t) = -16t2 + 136t + 30 Round answers to the nearest hundredth ) . ) .
(t h) 3. Find the time it takes for the object to reach the ground.

This tells us to find the Vertex

. Find th helght of the object.
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h(t) = -16t2 + 136t + 30

4. Find the time it takes the object to reach a height of 250 feet.
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